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QUESTION 1

What change is needed in the Directory Server when a custom person entity is created in IBM Security Identity
Manager?

A. There is no change needed in the Directory Server for new custom person entities.

B. A new container needs to be created in the Directory Server.

C. Directory object class and attributes to reflect the new entity.

D. A new user entry needs be created in the Directory Server.

Correct Answer: A

Reference: http://www01.ibm.com/support/knowledgecenter/SS4J57_6.2.2.6/com.ibm.tivoli.fim.doc_6226/sse/usc_def

_custom_attribute/USCAttributecannotbeadded.html

QUESTION 2

Organization tree hierarchy can be changed from administrative console.

Which of the following statement is TRUE?

A. All objects within an organizational container can be transferred to a different organizational container.
B. Users within an organizational container can be transferred to a different organizational container.

C. Changing organization tree structure does not affect users in IBM Security Identity Manager.

D. Services and policies will be transferred automatically to the new organization branch.

Correct Answer: B

QUESTION 3

Where is the correct location for verifying database connections to ISIM v6.0?
A. WebSphere administrative console

B. ISIM database connection log

C. ISIM 6 Management Console

D. WebSphere transaction log

Correct Answer: A

Reference: http://wwwO01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/installing/tsk /
tsk_ic_ins_ver_db.htm?lang=en
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QUESTION 4

When gathering requirements for Access Control which TWO access types to be managed need to be identified?
A. MessageGroup name

B. AccessRole name

C. MailServername

D. MailGroup name

E. AccessID name

Correct Answer: AD

QUESTION 5

Which two of the following are valid join directive types built-in ISIM?
A. Precedence_Sequence

B. Concatenate

C. Greatest

D. Average

E. Xor

Correct Answer: AD

Reference: http://wwwO01.ibom.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/configuring/
cpt/ cpt_ic_policy_joindirectives.htm (see the table)

QUESTION 6
The ISIM deployment plan for setting up an SSO environment for authentication must include which tasks?

A. Configure SSO product to reverse proxy to ISIM, configure ISIM\\'s forgotten password options, create new ISIM
authentication provider

B. Create new ISIM authentication provider configure SSO product to reverse proxy to ISIM, provision SSO product
from ISIM

C. Configure ISIM for SSO. create new ISIM authentication provider, configure SSO product to reverse proxy to ISIM
D. Configure SSO product to reverse proxy to ISIM, configure ISIM for SSO, provision SSO product from ISIM

Correct Answer: C
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QUESTION 7

To make use of a newly added javascript extension available in a workflow script node, which of following is valid
example line added to scriptframework.properties file?

A. ITIM.extension.AccountTemplate=com.acme.test.CustomWorkflowExtension
B. ITIM.extension.workflow.acme=com.acme.test. CustomWorkflowExtension
C. ITIM.extension=com.acme.test.CustomWorkflowExtension

D. ITIM.workflow=com.acme.test.CustomWorkflowExtension

Correct Answer: B

Reference: http://www01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.3/com.ibm.isim.doc_6.0.0.3/reference/ref /
ref_ic_props_supp_scriptframework.htm?lang=en

QUESTION 8

The client\\'s IBM Security Identity Manager (ISIM) production environment consists of a two node IBM Websphere
Application cluster. Server #1 has the Websphere Deployment Manager installed as well as one of the cluster nodes.
Server #2 in the cluster just has the node installed. If a process monitor is being configured on Server #1 how many
Java processes are there related just to Websphere?

A. 4 - Deployment Manager process, Node process, Application Server process, Messaging Server process

B. 1- Deployment Manager and Node processes run under a single Java process

C. 3 - Deployment Manager process, Node process, Application Server process

D. 2 - Deployment Manager process and Node process

Correct Answer: D

QUESTION 9

Which is TRUE concerning the configuration of Reminder Interval within Workflow Notification Properties?
A. Reminder Interval can be overridden within individual workflow activities

B. Reminder Interval must be greater than the default escalation limit

C. Reminders can be suppressed by setting Reminder Interval to O

D. Reminder Interval is specified in days

Correct Answer: D

Reference: http://wwwO01.ibm.com/support/knowledgecenter/SSTFWV_5.1.0/com.ibm.itim.doc/tsk/tsk_ic_wkflo_cfg_r
emindinterval.html
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QUESTION 10

What feature in DB2 should be enabled to automate memory allocation within areas of DB2, (buffer pools, sort heap,
package heap)

A. Self-Tuning Memory Manager

B. Server side sorting

C. Directory caching

D. RUNSTATS

Correct Answer: A

Reference: http://books.google.com.pk/books?id=P8n96- iG5XsCandpg=PA74andlpg=PA74anddq=feature+in
+DB2+should+be+enabled+to+automate+memor y+allocation+within+areas+of +DB2andsource=blandots=nbP9icWmg
andsig=RhmIVuccglE507TalkX4dnkDMW8andhl=enandsa=Xandei=NAPdU9eHPMaO7AaK2IDg

Cwandved=0CDwQ6AEwWBA#v=0nepageandg=feature%20in%20DB2%20should%20be %20enabled%20t0%
20automate%20memory%?20allocation%20within%20areas%200f %20DB2andf=false

QUESTION 11

When performing a partial export from the test IBM Security Identity Manager (ISIM) environment which of the follow
statements is valid?

A. The partial export process will export all dependencies for the object that is being exported from the test
environment.

B. The partial export process will export the dependencies necessary to create the export object in the target system.
C. The partial export process does not support exporting multiple objects.
D. The partial export process does not check dependencies.

Correct Answer: C

QUESTION 12

Given an IBM Security Identity Manager test environment which is a valid option for testing thousands of TDI/RMI
adapters?

A. Point IBM Security Identity Manager test environment services to production environment end points to be managed
B. Use the threaded_damlserver.pl script from the IBM Security Identity Manager tuning guide

C. Install thousands of separate TDI dispatchers

D. Use the virtual service adapter setup

Correct Answer: C
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QUESTION 13

When prioritizing platforms for which to provide an adapter which of the following criteria would cause you to exclude a
platform from an initial deployment?

A. A large user population is defined on the system.
B. Access is limited due to sensitive content.

C. Users are added and deleted dynamically.

D. User auditing is required.

Correct Answer: C

QUESTION 14

When gathering requirements for email notifications, which event triggers an email notification?
A. Reconciliation request activity

B. Compliance request activity

C. Adapter activity

D. Role activity

Correct Answer: C

QUESTION 15

Separation of Duty policies create mutually exclusive relationship between what in order to protect sensitive information
from conflicts of interest?

A. Provisioning policies
B. Accounts

C. Groups

D. Roles

Correct Answer: D
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